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Note: (1). Attempt as many questions as you can. Bach question carries 3 (Three)
marks. One mark will be deducted for each incorrect answer. Zero mark
will be awarded for each unattempted question.

aﬁ:mr%mahﬁmwﬁmmﬁrmma&ﬁ?}ﬁm%am_
TG TR 2 Ry vE aw ey arhn T ok ser @ e g
Sl

{2) If more than one alternative answers seem to be approximate to the correct
answer, choose the closest one.

o vl dafeus ST WE WeR 3 P wde o, o Pre vl v ¥
1. 'Everforward is the mato of |

(1} Asian Games (2) Commonwealth Games

(3) Afro-Asian Games ' {4 W

(1) TR = (2) TETIT B

(3) TR-TRrT A T el g
2. The Turnvereine Movement. began from : T
(1) Sweden {2) Denmark (3) Germany
R T T G e e,

AR @ S (3) v ..
1y o Dy

(% Risssis

H'II P' T' D
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3. Psychology is the study of :

(1) Human Posture {2) Human Behaviour
(3) Human Performance {4) Human Retations
AR eI B

(1) =fdg o TORE e (2) =i B HWAEW
(3) @ &1 7Ew (4) @Ry ¥ TR

4. Progressive growth in behaviour is called :

(1) Learning (2) Maturity
(3) Growth (4) Character
FTER P YA PR DEA € -
W dem @) v
(3) 7% (4) TR
5. ‘Which of the following somatotype has not been mentioned by Sheldon ¥
(1} Omomorph {2y Ectomorph
(%) Endomorph (4) Mesomorph
fr % & fr ARCIEET o7 Seore dwes g 7@ v T 8 7
(1) s (2) T
(3) T (4) At

g 'Conditioned response’ thegry was put forward by :

{2) Pavlov

dike
(1) Tho (4) Mc Dougal

@ Jor® Rk
e LR R
T - (2 T9eE
(3) FEE @y ¥ 3t
@) T '

.lE‘!
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Which of the following is not a law of learning ?

(1) Law of readiness ~ (2) Law of effect

(3) Law of reaction (4) Law of exercise
s 3 & e Wt @ s i R 7

(1) dorr &1 gy (2) ¥ &1 Pram

(3) wRfar w1 P (@) srar @ Py
In Olympic motto ‘Fortius’ means :

(1) Higher | @) Faster

(3} Stronger | (4) Lighter

ST & arcdar ¥ W o onl 4 -

(1) S (2)

(3) wfraeh  {4) wwm
'ALVEOLT isa part of :

(1) Circulatory system (2} Nervous system
(3) Respiratory system {4) Digestive system
TR P S et g
(1) YeRreemor W5 1 §2) TR R =

B W T e -{(4) 9TaT 7Y @

B _

Muscle contract but o movment takes place, is knﬂwn' as -:

(1) Isomepric Contraction. - (2) Isotomic Contractioy
(3) Iso-kinetic Contraction . (4}.“ Eg.ﬂfm ,C'?ﬂffat‘mn
et g B ¥, L I Ry T e L R o

(1) FFEAT BT @) TS gy
(3) seRhaTERe R ) TG g

(8)
' PTO
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11. ‘"Plato' is referred to as the father of :
(1) ldealism {2) Naturalism
(3) Pragmatism (4) Essencialism

TS WY HAw B wq A o o B

(1} st @ (2) WPHEE B

(3) It & (4) SfERREE &
12. In sprinting races, most important factor is :

(1) Legs power (2) Hearll size

(3) Legs length . (4) Type of muscles fiber

o R 2t ¥ g oW §

(1) R # ofdm (2) T BT WHFR

(3) & A g (@) R o @ 9PN
13. 'Trial and Error’ learning is also known as :

(1) Organised learning (2) Self learning

(3) Instinctive learning {4) Tnformal learning

e T e S P FE #:

(1) wared A (2) v SRR

@) TR arfrTR {(4) RS AT

Contraction can also be called :

[s0tomnic ’
14. (2) Sfatic Contraction

(_1) mnamc {:Gnt‘l.‘é.c'tiun | |
ﬂtﬁc{:nmracﬁﬂn (4) Bogentrie Contraction
{3 Cﬂm_:e £ 78 4 T wwe ¥
e @ﬁﬁ‘ () R Hogm
(1) W g (1) TG HET
o (4)
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16.

17.

18.
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Which of the following event is nof included in heptathlon ?

(1) High Jump 12) 100 M. Sprint
(3) Javelin Throw. (4) Discus Throw
o & ?@W#ﬂﬂwwﬁi‘ﬂﬁqﬁm B R
) ¥ @) 100 o g
(3) wrom g | {4) Tl o
Which of the following game does ;m;t provide time-out during play ?
(1} Volleyball {2) Football
(3) Haridball {4) Basketball
ﬁwt%fﬁaﬁ#ﬂ#—?#éﬁ%w*mwiﬁwmﬂm TETE ?
(1) areftars , (2) wedTe
@) & (4) e
Newton's 'second law of motion' is kncrhwn as.
(1} Law of Inertia . (2) Law of Acceleration
(3) Lawof Rearﬁml | @) Law of Gravitation
wm'ﬁm@mmﬁmﬁﬂﬁmmﬁ:
(1) ST w1 frm fi}r_ﬂl;?}.ﬁﬁ'ﬂﬁ :
(3) it ot Fram 4 oY #7 frw
Kyphosis" is the deformity of vertebral column at .
(1) Thoracic region o (Zy ToiBSF tegion
(3) Clavical region (4} Cuccggeal region

mmwﬁﬁmm

(1) ARzl -~~~ e *ﬁﬁtﬂi

P.T.O,
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19.

21.

22.

The term 'efflurage’ is concerned with :

{lj Traming (2) Coaching
(3) Exercising (4) Massaging
THeT e PR AR 8 7 -

{1y fimeror (2) AfFar

(3) =TI GO (4) Aifere AT
“Stadiometer” is used to measure :

(1) Body weight (2) Height
{3) Flexibility (4) Agility
ey T wonT gy FY @ fordy (e ST 8 2
(1) =8 T T (2) e

(3) wdvETIA . (4) TeAaT
Kohler's theory of learning deals with :

(1) Triajand Brror (2) Conditioning

(3) Insight learning {4) Transfer of learning
mmﬁﬁ?ﬁmwwkrﬁ??

(1) wird T e oL {(2) wgRE

(3) afafte afems (4) e @ AR
Anterio-Posterior axis is also known as :

1} Vertical axis (2) Sagittal axis

(3) Frontal ax1s (4) Longitudinal axis
AL et B o W udl e 7

(1) AR (2) EfaarT s

(3) i e {4y I A

(6)
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Which is mot considered as component of training load 7

(1) Intensity | (2) Volume

(3) Density (4) Diet

AR AR BT B § § P www 78T wwer Wy ?
(1) Hrm (2) s (8r)
(3) == (4) MR

In which training profitable rest period is utilized ?

(1) Weight training

(2} Continuous training

(3) Fartlek training

(4) Repetition training , :
ﬁﬂ#ﬁﬁﬂﬁﬁ?&iﬁﬁaﬂwﬁ%ﬁmﬁmawaﬁawﬁ%?
(1) ¥R yidvero

(2} e wfemeror

(3) wiom ufdwim

(&) grmgfer wfmor

The test of significance used for comparing two means is -

(1) 'F Test {2} ' Test

(3) ¥® Test (4) ANOVA Test

@ et G S R T A e ek ARy

(1) ‘P ey o (2t vmy

(3) ¥ o (4) T gy
{7)

PToO,
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26. Match the List-I with List-11 and select the correct answer from the code given

below :

List-I
[. Badminton
[I. Hockey
1Il. Physical finess
V. Volleyball
-Codes:

d

c

List-11
Harbans Singh Test
Lockhart-Mc Pherson Test

Russel Lange Test

. Fleshman Battery

ﬁiﬁ-lﬁwan#gﬁmmﬁ_mwgmmm FEl TR AT

I Im I
hd ¢ b
c b d
3)a ¢ b
4) b a d

-1
L ¥
M. e
{1, =RRE &
Iv. diefrard
FC !

[ 1 1O
md ¢ b
() ¢ p d
@z ¢ P
@b a 9

IV

-1l

XA THE T

_ rmed-fewet gler

T o T

. e A
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27. Match the List-I with List-II and select the correct answer from the code given

below :

List-1 List-IT
. Hamstrings ’ a.- Hips
. Gluteus b. Back
I. Latissimus dorsi ¢. Thighs
IV. Gastrocniemius - d. Calf
C‘adgs..-- |

1 I m v
(1) b a C d
(2) a d b c
3 ¢ a b d

Al -1
1. #aRgw a. wEal
L R b, W
W, afefme S Wiy
V. s d. fivgen
% -

] I 111 v
(1} b a C d
(2) a d c

,....
=
"M
oa
o o
(=¥

(9)



17P/222/16(Set-)

28. Match the List-1 with List-IT and select the correct answer from the code given

below :

| List-] ~ List-lI

. Realism a. Aristotle

I. Pragmatism b. John Dewey
l[l. Idealism ¢, Plato

V. Naturalism d. Rousseau
Codes ;

1 11 11l IV
{1} ¢ d a b
(2) a b ¢ d
3 b a d C
4d ¢ b a
A o L S iR AR st T FT @ MW W HE ST @t 94T

Fferd

ST -1
| A7 1 A o a. S
1. qATHE b. o 1
[I1. angshame ¢ T
V. u-cpf%mrc: d. &9
ge-

(o m
me d = P
{2) a
(3) b a
@ d ¢ b a

(=
i
oL,

(10)
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29. Match the List-I with List-II and select the correct answer from the code given

below _
List List-IT
L Flat foot . a,  Mc Donald
I. Kraus Waber Test b. Basketball Skill Test
II. Soccer Skill Test | c. Minimum muscular strength
IV. Johnson Skill Test d. Pedograph
Codes :
I 11| ar - 1v
{) b a o ¢
. {2) d C a b
b a c d

(4) a c d b
ﬂ-lmﬁ@-ﬂ#mﬁaﬂﬁﬁmm.@ﬁwwwgﬂmw

S
LS S L
I R % 99 qomn a. F e
. &9 Fax o b.  areETE. W ey
I, Gearm ioe gty c. T VI aw
IV, o a9 $herer odim d -Ermy
T4
I 0 m 1w
Mb a d o«
2)d ¢ a b |
Wb a ¢ d |
@a ¢ d b |
(1

P.T.Q.
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30. Match the List-I with List-I1 and select the correct answer from the code given

below :
List-1 List-IT
i. Hinge Joint a. Knee
1. Saddle Joint b. Thumb
1. Ball & Socket Joint c. Neck -
IV. Pivot joint d. Shoulder
Codes :
I n m W
MHd a < b
b d c a
(3 ¢ b d. a
(4) a b d C
wﬁ-lﬁqﬁ-uﬁwg&ﬁ'ﬁaﬁiﬁéaﬁvm@%aﬂaﬁﬂwﬁwﬁm
R
-1 -1
1 ¥ e a. e
nowdmER b. e[l
{11, Segel c. T
V. o d. ¥H
[ g m v
md @ C b
ov ¢
@e O
(4) a b d ¢

(12)
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31. Winning phenomenon in sports depends on learning of fundamentals in
following sequence :

(1) Skill, Technique, Tactics, s&ategy

(2) Technique, Skill, Strategy, Tactics

(3) Skill, Technique, Strategy, Tactics

(4) Strategy, Technique, Tactics, Skill

P A9 o 27 & s s Ot w St 3 Rior W @ W Eadt 7
(1) Frgoren, wfen, 3R, sqgese

(2) v, g, SRV, gf

(3) Frgerer, wafies, aggeer, 7fer

(4) wgeeerm, weete, yfew, fagrar

82 Select the correct sequence of presentmg subject matter in the class of Physical
Education :

(1} Correction, Dexﬁunstra'ﬁu;l, Evatuation, Practice

(2) Demonstration, Correction, Practice, Evaluation

(3) Practice, Correction, Evaluation, Demonstration

(4) Demonsteation, Practice, Correction, Evaluation

TR e 2B v A Ry g we T BH T 79T Pt
(1) gor, v, yogiom, Svamy

(2) FEIA, PoR, AR, T

(3) ST, S, i, Wk

(4) T, s, U, TP

(13)
P.TO,
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33.

4.

33.

Which of the following condition occurs due to accumulation of Lactic acid ?

(1} Freshness (2) Fatigue

(31 Relaxation (4) None of the above
ﬁﬁﬁﬁqﬁ@'wsﬁﬁﬁiqﬁﬁfﬁ?—ﬁﬁ&ﬁﬁmﬁ%?

(1) T | (2) 1=

(3} ¥ (4) IR § A WE T
The strongest muscle in human body is:

(1} Quadriceps : (2) Rectus Femoris

(3} Biceps (4} Latissimus Dorsi
g SR F ey il AR €

(1) Fargr (2) ‘ored TRIRE

(3) TTET=T (4y AR ST
Sargent jump measures : |

(1) Explosive strungth. (2) Agility

(3) Flaxibility (4) Maximum Strength
T S A B Y

(1) fepres i (2) TS

(3) rdrenad (4) ARTET Ao

26, The most reliable measure of variability is :

(1) Mean (2) Standard deviation

(3) Quartile deviation (&) Mode
Rraer I frga iy T €

(1 = 2) " R
(3) v (4) TESD

(14)
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Number of matches in first round of knock-out tournament of 23 teams will be -

(1) Seven (2) Eight
{3) Six (4) Nine
23 ¥t WY =ig-amae FRAfen @ wom o F 6 9 wem @l
(1) ¥ | @ e
@ = ‘ . (4) =
Calory is a measurement unit of :
(1) Liquid (2) Heat
(3) Solid {(4) Cold
FAR T A B gHE & 7
(1) 7= (2) g
3 s (D) wom
Purpose of test is measured through :
-'(1) Reliability (2) Validity
(3) Objectivity (4) Split half method

e T A Rewd e & Ay o & 2

(1) fevawraar : (2) Huen

(3) Tgwsar | “- (4) R a6 gl

The value of coefficient of correlation ranges between :

(1) (00) to {1.00) i @) (Do

(3) (1.00) to (00) @) (-1.00) to (1.00)

HEwaY & oa & 50 oy gt § wgar & 7

(1) (00} ¥ (1.00) @ )=o)

® (L00)3 (00 W LR
(15)

. PTO.



17P/222/16(Set-l)

41, Mode is a measure of central tendency. It is considered as :

t1} Average of Scores (2) Most frequently accurring score

{3) Valuein the middle (4) Sum of scores

v v w1 AT w1 v adwn e B g FE o &

(1) TP T FE (2) TR-FR Wi AT

(3) A (4) TR W & AE
42, Tnsulinis secreted by ; |

(1) Liver (2) Pituitary

(3) Pancreas (4) Thyrod

T & T B E

(1) forae @ | ) freged

(3) SAfHa (4) wrdige @

43. School health programme does nof include :

(1) Health instruction (2) Health supervision
(3) Health service (4) Health research
sepdl Tamen g ¥ (H WO 78 T ?

(1) e awE FIed (2) @R GHIET

(3) vawed A (4) TERRY STHU

44. A score towhichan obtained score is compared is !

(1) Data (2) Norm
(3) Primary Score (4) Grade
ﬁﬁmﬁwﬂmwm‘mﬁamaﬁm%;
(@) @
A
v (4) T8

(3) WRIME B
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Bones of human body are classified on the basis of :

(1} Structure and Function {2) Location and Attachment
(3} Size and Shape (4) Joint and Movement
A R A sl rw s o adfen @ o 22
(1) v v w7 : (2) w Td wEaEa
(3) oiRa™ U4 aner (4) ¥R o wfefafy
First step in sport management is :
(1) Budgeting (2) Co-ordinating
(3) Planning - (4) Directing
ol wE F wes wRey g 8
(1) e st ) wm
(3) v | (4) Fde
Haemoglobin is found in : _
(1) RB.C. | (2) W.B.C.
(3) Platelets | | (4) Borie mamow
AArenfaT et arar e & 7 _
(1) sRododo (2) Eﬁ;i“ﬁﬂffo
(3) wieetew | (4) 97 &
Which of the following is known as the building blocks of body ?
(1) Proteins (2) Carbohydrates
(3) Vitaming (4) Minerals
i of @ F-w weF TR B e g 2 0
(1) 9K (2 Ftersicw
) ferfe (@ Rrvem

(17)

PTO
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49, The area in which, the sporis management must #ot perform is referred to as :

50.

51.

(1) Evaluation in sports (2) Innovation in sports
(3) Organising sports meet (4) Leadership in sports
&% Rt W veud oY o T TR WY, I [ TEd €
(1) @ qeuie (2) WeT- AT

(3) W= wiaafal a1 emie (4) W-AIA

The first institute in India to propagate the cause of indigenous Physical
activities 15 |

(1) Y.M.C.A., Madras
(2) LN.LP.E., Gwalior
(3) H.V.P. Mandal, Amravati

(4) B.H.U., Varanasi

et H o s <iRen 3w TR @ Bl @ vanfea foma 2
(1) GrgoTAvHleTo, HAIH

(2) GaoyFodEotiogo, TICRR

(3) vmodiodle wed, L SE T

(4) ogrioge, TR

Which of the following is considered as genetic endowmment 7

(2) Flexibility

(1) FEndurance
(4) Strength

(3} Speed ?
FETIe @ e

X (@) 59

(3) T

(18)
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Which of the following is ot a criteria of a good test ?

{1) Objectivity - (2} Subjectivity

(3) Reliability (4) Validity

A W W U S W o7 Aveve qef e 2

(1) Fefraar : (2) erfRTaRE

(3) Rreaeriger (4) derem

Which of the following is responsible for muscular fatigue ?

(1) Pyruvic acid | (2) Glycogen

(3) Lactic acid {4) Succenic acid

ﬁﬁﬁiﬁﬂﬂﬁﬁﬂﬁ%ﬁ%fﬁﬁﬁﬁﬁﬁﬁﬁm%?

(1) Troefiw ofye ) (2) TeEHIfaH

(3) Few tivs (4) v gRve

Sﬂ‘luchzral and functional unit of life is know as : |

{1} Tissues (2) Muscles

{3) Cells (4) Ligaments

ST F GO O wr wEel 5o s @

(1) Rwgw (2) ety

@) ¥wa () forms

Voluntary muscle is found in :

(1) Hands . (2) Wings

(3) Glands (4} Heart

wites Wt g ond ¥ B

(1) Tl ¥ - @ @y

(3) wiRnd @) v
(19)

P.T.0.
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56. The 'Pleura’ covers the:

(1) Fleart (2) Lungs

(3) Abdomin ' {4) Kidney
o P E Y e TR R 7 |
(1) 737 o (2) FwSl @
(3) R @ ) 7T

57. The longest bone in human body is known as

(1} Radius (2) Ulna
{3) Tibia {4} Femur
wfm % e § wed o B9 @ AW B

(1) Wzau (2) el
(3} el (4) B

58. Which of the following is ball & socket joint ?
(1} Elbow Joint (2) Shoulder Joint
(3} Wrist Joint 4) Knee Joint
fr=t 4 § ¥9-W 9 (7S Tde wigw< 8 7
(1) @Ed = ois (2) T F AL
{3) FE T AS @) g W T

§9. The valve situated between right auricle and right ventricle is known as:

{1) Pulmonary Valve (2) Aortic Valve
(3) Tricuspid Valve (4) Mitral Valve
a‘ﬁaﬁ?vdﬂ%u%mﬁemmaﬁwﬁaﬁ?
{13 el A (2) waRie ameg

(3) ZRFHTS qea () Tiss ae
(20)
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. Analomical age can be decided by :
{1) Calendar vear {2) Height of skeleton
(3) Secration of hormones . {4) Oséiﬁcaﬂun of bone
T-vaT Wl ATy e ¥ e PeiRa o wd @ 2
(1) Rframd (2) wpre Fi Hug A
(3) s ¥ | @) aRa B aRfrdea A
Fundamental skill Instep Kick' is associated with the game of :
{1} Swimming (2) Taekwondo
. {3) Football (4) Wrestling
o B TR P e Qe 3 T § 7
(1) (2) g
(3) e (@) meh
‘Rangaswami Cup' is associated with the game of «
(1) Hockey (2) Judo
(3) Football (4) Volleyball
ST e W W A 7
{1) Efmt (2) 8
(3) G ' (4) dtcvar
Which of the following term is associated with the game of 'Hockey' ?
{1} Bully (2 Gulty
(3) Flyball (4) Rolling ball
= A @ B = B B9 S g 0
(1) e @
(3 v A - () IR ey
| (21)

P.T0.
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64.

65.

"66.

&7.

Fundamental skill Round hand service' is associated with the game of :

(1) Badminton (N Tennis
(3) Volleyball {4) Cricket
el G TER des wie fw dw | gwig g7
(1) wefes (2) e
(3) i (4) fpee

The number of water jumps in 3000 Mts, steeple chase are
(1% Seven (2) Ten

(3) Fifteen (1) Twenty Eight
3000 Ho =ow v F el gew T a8 8 ?.

(1) e {2y 29

(3} w=E (4) FcTIRH

In long jump wind velocity is measured for the period of :

{1y 10 5econd (2} 5 Second (3) 15 Second (4) 20 Second
T a5 R ¥ arg @1 47 R R @ fordl A o & 2
(1) 10 BHTE (2) 5%@73 (3) 15 G&vs (4) 20 9HHS

In Baskethall wh.ich of the following is considered as foul 7

(1} Double drible , (2) Running with the ball
(3) Shifting {(4) Pushing the opponent
e B A ¥ e 8 AT wrse w1 E 7

(1) a1 R Eﬁﬂ TG | {2) 9w & T ol

@y <l (Rifie) (4) FIED B s 2

(22)
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68. Volume of air remaining in the lungs at the end of the maximal expiration is
known as :

(1) Tidal volume

(2) Expiratory reserve volume
(3) Residual volume

(4) Inspiratory volume

mﬁmwwmﬁﬁmmﬁﬁﬁwaﬁwaﬁm
we & 7

(1) ¥&91 arg o9
2) e swide a7vF
(3) safhee a9

(4) WEEEHT HTHM

89. The outer most covering of musde is called :

(1) Perimysium (2) Endomysium
(3) Epimysium | (&) Sarcolemma
o @ Y el aEew &t wEd €
) wémsfem : (@ TErTEREn
(3) TR (4) wwie
70. 'Bile juice’ is necessary for the digestion of :
(1) Proteins (2) Fats
(3) Carbﬂh}fdrates | (4) Vitamins o
mwﬁﬁﬁ'ﬁ&ﬁﬁw$ﬁﬁmﬁw%?
(1} WA ' -(2) T
(3) wrETERe () e
| (23)

P.T.C.
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71.

72,

73.

74.

Which of the following muscle is responsible for the extension of arm ?

(1} Biceps (2} Triceps

(3) Deltoid (4} Pectoralis major
Fra # & wiaah Toh aglaefy & B SoveE) & ?

(1) argereg (2) e

(3) IoTrms | {4) UgRnfer daw
The dimension of Kho-Kho ground is :

(1) 26mx 14m (2) 28mx12m
(3) ¥ mx16m (4) 25mx 15m
-G Fles F AN R

(1) 26 #lo x 14 #irc (2) 2890« 12 Fo
(3) 29 Fo x 16 Mo (4) 257 x 15 %o

The inward rotation of forearm is known as :

(1) Retraction (2) Protraction
(3) Pronation {4) Supmation
TN F AR B AR YAE FEela ¢

(1) R @) DT
(3) g (4) garr
The muscle is attached to the bone through

(1) Connective Tissues {2) Tendon
(3) Ligaments (4) Cartilage
Afapdi T § fbud gy 9 w7

(1) wifea fevqd (2) &=

3 R (4) TN

(24)



735.

76.

78,

79.

(1) $ER (2) W= @) B

17P(222/16(Set-)

The norrmal blood pressure of an adult is :
TH a1 @ WG A Bl ¥
(1)} 120-90 '(2) 125-80 . {3) 12085 (4) 120-80

The relaxation phase of each heart beat is called :

(1) Systole (2) Prediastole  (3) Relaxing (4) Diastole
2% @ v Wed A1 oW &1 fufy weart 8

W R @ femew @) Refem (@) SR
Which of the following provide maximum energy to the body ?

(1) Carbohydrate (2) Fats (3) Protein (4) Vitamin
Y B siferwod Fal e g 9§ feee g wra ki g Y

(1) wfEEge (@) - (3) @ frerfim

. Which of the following is developed by "Fartlek Training" ?

(1) Strength (2) Speed (3) Endurance (4) Agility

wedE amer & g = 4 | fa e @ wmar @ °

(1) =@ @) 7fy (3) T (4) e

Muscular strength is' measured through :

(1) Dynamometer (2) Ergometer {3) Odometer (4) Flexometer
i e e R A W ¥

(1) smdfler  (2) oy (3) arerftes {4) TomreR
'‘Cold Compression' treatment is given for ;

(1) Fracture  (2) Cramps  (3) Sprain

{4) Strain

_{‘1} W
. (25)
i PTO.
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81. WMatch the List-I with List-II dﬂd select the correct answer from the code gi\-'i:‘rl

below :

List-1 List-[1
L. Carbohydrate ) a. Buovancy
fI. Lachc acid b. Pulse rate
HI. Exercise ¢. Energy
V. Swimming d. Fahgue
Codes :

| 11 T IV
(1) ¢ d b a
(2lc a b d
(2 b d o« a
(4) a ¢ b d
-1 & G-I G G HOR AR TEE gE b amME W WE SR @1 W

-1 g1
. ®EEEse a. A
1. fes wfie b. AR @ gsed
1L c. Hult
v, iR ' d. gF
FE

=]

; 1 11l v
(1) ¢ d b a
b 4 ¢ 7

@a ¢ D
(26)
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82. Match the List-I with' List-IT and select the correct answer from the code given

below :
List-1 ‘ List-II
1. Medicine ball a. Gymnastic
II. Trumpolin b. Exercise
IIl. Erogenous aids ¢. Medicine
TV. Aerobics d. Marathon race
Codes :
I on m 1w
a ¢ d b
b, a ¢ d
(3) b d ¢ a

4d ¢ a b
@1 By il § gt HRR O WO e 3 MR R 9 BTk o 9
iy ‘

a1 L)

1, wfefae are a. e
1. grfes | b. @mH
1. 3T eras ¢ &
V. e ' d. f‘rwa“ra
. _

I I v
{1) a C d b -~

Db a c¢ @
@b d ¢ a
Wd ¢ a b

o PT.O.
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83. Match the List-I with List-I and select the correct answer from the code given

below

List-1

I Powerlilting

Il. Banch Press

I Verticle jump

[V. Shuttle run

List-IT
a.  Agility
b. Sport

¢.  Explosive power

d. Exercise

;I‘n‘l Hl Hﬁllﬁqﬂﬁﬁaﬁﬁtaﬁ?m Eﬁ&ﬁmﬁ FE! @ad @l ;.-1:;-1

Codes :

I II
Mb e
20 d ¢
(3 b d
(4) ¢ b
AT -

-1
1. wmes fofder
il. == ¥
I1I, 9iéme @™
V. 9 W
EF ;

1 I
)b«
2y d ¢
@b d
@e b

11l

qA-11

4.  aqefdl

b, G

c. fawses i
d. &mIH

IV

a

(28)
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B4, Match the List-I with List-11 and select the correct answer from the code given

below :

List-1

I Cyclocity of training

II. Training cycle -

List-II
Velodrum
b. Principle of sports fraining

L Cycling c. Periodisation
IV. Stretch-shortening exercises d. Plyométric
Codes: |
1 o I v
Md b a o
b a d ¢ ;
3 a d b C
(4) b C a d
Wi @ il & e SRA ok waT FT P IER W wf SR @ WA
R
i b
L e ¥ =fbaar a. uagH
U, sRest 9% b, & ufey 1 Rgre
111, H\Efha FomT ¢ WHULE
iv. feud-dgws amm d. <rARs
%e |
I o mw
Mmd b a ¢
@b a d ¢
Ma d b e
@b ¢ a d _—

(29)
PT.O.
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83. Match the List-I with List-11 and select the correct answer from the code given

below
List-] List-T1
I.  Ideo-motor training a. Training method
II. Ballastic method b. Mental practice
Ul Physiotherapy ¢.  Flexibility
V. Fartlek d. Re-habilitation
Codes
1 1 v
Wb ¢ 4 a
{2) ¢ d b a
(3 a c b d

(4hd b a ¢
Tal-l F7 E-ll @ PEem IR ok wew #e 3 o W @@ TR & 994

Hifwd

-1 | il s (O
1. gi&a)-nes vl a. Wrdwor fafd
11, Sl fafy b. “AMRS AT
11, siforaeRd . orerer
IV, wdem d. At # @
&

@c d
(3) 2

4d b @ ¢
(30)
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86. Match the List-I with List-1I and select the correct answer from the code given

below :

List-
[. Boxers
Il Basketballers
[L Volleyballers
IV. Wrestlers
Codes :

I I "
Ma b d ¢
@b ¢ d a
Bec d b a
(4) d a c b
Hferd

TR
L WEBY
II. sacans Raed
1. drfaTe e
V. ggeam
BT _

I O m i
(1) a b d c
b ¢ d. a
@< d b
@d a ¢ b

List-1I

Matman
b. Spikers
¢. Pugulist
d. Cagers

il B TR ¥ g PR ok vee g @ o w @ Sor @7 9

g1
a. Aol
b, WEH=

c. ufeRe
d. dad

31
v PT0O.
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87. Match the List-I with List-lI and select the correct answer from the code given

below :

List-1 List-]I
1. Endurance a. Sit & reach Test
II. Speed b, 50 Mts, race
. Agility | c. 600 Mts. race
IV. Flexibility d. Shuttle run
Codes :

! nm m .

{1) c b d a
(2) b d a ¢
{(3) a c b d
4} d a . ¢ b
< @ G & g AR AR ven e © GWR W @ TR BT TR

Pifrs
T -1
I SHeadeddr a. e tvg 9 o
m b. 50 He €
IIL. =eic c. 600 e TIS
Iy, een d. e
i Tl

(2]

1 g m v

Me b d 2
@b 4 2«
{3) a ¢ b d

wad a ¢ P
(32)
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88. Match the List-I with List-II and select the correct answer from the code given

below :
List-

. Hockey

I Tennis

31, Football

1V. Badminton

* o E

o

IV

d

5

d

List-11
a. Davis Cup
-'b. Rangaswami Cup
Santosh Trophy

d. Swethling Cup

A B L R R SR R TEE ZE W R W §E TE B A

Codes :

1 I
(1) a d
(2} b a
(3 ¢ d
fil} a c
BT

-1
I gt
. 2=
ITl. weEee
v, g+
7E !

i In
ya d
(2) b a
(3) ¢ d

@ a c

I

gl
a7y
Imm
Ty gt
Wl oy

p oo o

2
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89. Match the List-I with List-II and select the correct answer from the code given

below :
List-] List-TI
I.  Chip shot a. Baskethall
II. Mule kick b. Volleyball
1L Flﬂﬂting service ¢. Football
V. Jump shot d. Kabaddi
Codes : ‘
| I 1 1V
(¢ b d ]
(2} b d C a
{(3) ¢ d h a
) a- b ¢ d -
gl @ - W e ARR AR MRE @ @ SuR W WeT ST W W
T
I -1
1. fmesfie a. RRPTHA
111, WA Wan ¢ Bedr
v, o 9ic d. e
T
I n w1V
' a
e b 9
g ¢ 2
@b ¢
4 a
o) ¢ )
b C
(4) @

{34)
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80. Match the List-1 with List-IT and select the correct answer from the rode given

belaw :

List-I List-Ii
I.  Straddie role a. Gymnastics
IT. Sail style b. Table Tennis
ifl. Cart wheel ¢. HighJump
IV. Top spin d. Long lump
Codes :

I. H i v
Wa d b ¢
2y b d ¢ a

(3) a c d b
4) ¢ d a b
-l B gl it SRR ok Y T 9 M W e SR @ 90

Fferd -

T -0
L. e e a e
I wa =R b. 2fRa efa
I #7 et | c FHE
V. et Raw 4 @b 5
7e - - e

I o m I
Ma d b e
(2) b d C a -
(3) a ¢ d
@) ¢ 4 a

(35)
PToO.
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§1.

92,

93.

94,

Which of the following country was the host of T-20 Cricket World Cup-20167?
{1) India (2) West Indies

(3} Pakistan {4} Sri Lanka

B 4w 2w £00 e favy w9 2016 &1 =9 o) 7
(1} ¥R (2) Teeg-d

(3} rfdar (4) Hreimr

Who is the winner of T-20 Asia Cup Cricket Tonrnament-2016 7

(1) india (2) SriLanka (3} Pakistan (4) Bangladesh
€120 TRem w9 fide WRRIMTL2016 & Reic) ol & 2

(1) W {2) e (3) ufnec (4) eV

On which day, ‘National Sports Day' is celebrated ?

(1) 6th April (2) 29th August
(3) 10th January - @ 17 September
T g R P P o 82

{1y & «ha : (2) 29 s ®

(3) 10 T = (&) 17 Ry

Who has won the maximum medals in Olympic Garmes till 2012 ?
(1) Larisa Latynina (2) Michael Phelps

(3y Marks Spitz (4) Darren Clark
W@Eﬁﬁ'ﬂﬁzﬂuwwmwmﬁcﬁmé?
(2) A H

(4) N7 T

(1) e 7

(3) Wl [
(36)
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85. Which of the following date has been declared by UN.O. as "International

97.

Sports Day" for "Development and Peace”?
{1) 2nd April (2) 6th April

@) 6th May (4) 2nd June

e g W i E Y R R R 1@ wie 3Rl o da
fraa Mg A 2 7

(1) 2 e &1 (2) 6 A BT
(3 6,58 @I (4) 253 B

Which nfl the following date has been declared by UN.Q. as "International Yoga
Day" ?

(1) 29th August - (2) 6th April
(3} 18th July | (4) Z21stJune
Wﬁm#ﬁwﬁﬁﬁmmﬁwmﬁw it et &
(1} 29 anrey =1 2) 6 A
(3) 18 G A (&) 21 v 7

Which of the following is the oldest 'Sport Newspaper' 7

(1) Sports Woild - — (2) Wisdon

(3} Gazzetta Dello Sport (4) Polskie Gazety Sport

e ¥ | W g S ey A E 7

(1} B et (2) s

(3) To ¥ Wi x LA o i
(37)

P.T.0.
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98. What is the name of 'Indian Flying Sikh' ?

8g.

100,

101.

(1) Kartar Singh {2) Boota Singh
(3) Bahadur Singh (4) ‘Milkha Singh
TR Ig+ fovg @1 oar W & 7

(1) Tar R (2) s Foe

(3) TeTER i ' (4) Forar e

The team of which sport, consist of both man and women players ?

(1) Corfball (2} Netball (3) Softball (4) Baseball
71 5 1 ¥ Sol #1 &9 % 9iken a1 goy 9 Ryand 8 € 7
(1) Fwa (2) “EEra (3) wieear (4) duTE

The word Pommel Horse' is related with -

(1) Horse riding (2) i’ulo
(3) Gymnastic , (4) Durby
Vg U B Wi 2

(1) geuard = (2) e @
() Rries ¥ @) s

The age uf a2 man is three times the sum of the ages of his two sons. Five years
hence, his age will be doubled of the sum of the ages of his sons. The father's

present age is
{l‘j Al years {?_] 45 YEAars (3) 30 years (’1} 25 years

o wh B g T A G @ ary AT I g ) o @ o 7 A
wﬁmmﬁgﬁaﬁ%mgﬁﬁmﬁﬁﬁrﬁmmm#ﬁmﬂg;

moa . () B (3) 50 39 &) 55 o

(38)
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The length of the longest pole that can be placed in a room 12 m lung. and ¢ m

wide and 8 m high is: .
(1) 12m (2) 14m
(3) 17 m C{4) 21m

12 Flo @A, 9 Mo A e & Mo B3 TR ¥ et R T wigal (SK) T8N
1w § 7

(1) 12 o (2) 14 Ao
@) 178 (@) 21 Mo

With reference to the human body, consider the following statements :
A. The production of somatotropin goes up when a person exercises,

B. Men's testes produce progesterone.

' €, Women's adrenal glands secrete testosterone.

D. Stress causes the adrenals to release very less amount of cortisol than usual.
Which of these statements are correct 7 |

(1) AB,CandD . @ ABandC

(3) B,Cand D (4 AandD

AT e B e ¥ PrfRe we e RER FR

A. w9 TF i W'-ﬂm ¥ g gRy apeeiite-gwEa T ¥

B. ol B g SrereRd v ) £,

C. Rl #1 oy (ifge) HRe e wiaT wwl €

D. aTa (®E) & oo e (uitges) wmRe @ alEr @go ew oW &
P g BYal B

T A S ToE g ? .
1) ABCED . @ ABwWC
(3) B,CTED _ @ ATED

(39) PT.0
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104,

105.

106.

107.

Which country among the following has been involved in two ties in Test
Cricket ?

(1) Australia (2) India

{3) West Indies (4} England

f1=1 3 ¥ b g tve B 4.9) IR < awm ¥ W &
(1) amefeem (2) "R

(3) Tegvda (4) gIvg

in a bisexual flower, if androecium and gynaecium mature at different times,
the phenomenon is known as :

(1) Dichogamy (2) Herkogamy
(3} Heterogamy (4) Monogamy

(1) fewrira (2) gphit
(3) FEAIG (&) wEER

When the time in the wall-clock is 3.25 p-m. the acute angle between the hours-
hand and the minutes-hand is :

T&?ﬁé’ﬁm—aﬁﬁmﬁa%uﬁaﬁ?%{mmu%aﬁaﬁaﬂﬁﬁﬂeaﬁ]ﬂjaﬁ
A AN B

(1) 60° (2) 5240 (3) 473> (&) 420

'Chgpchar Kut' is a festival celebrated in the State of -

(1) Arunachal Pradesh {2) Assam
(3) Mizoram (4) Sikkim
R ge e T wou A A w87
(1) awoEd Fad (2) e
(3) Froiva (4) ffees

(40)
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110,

17P1222/16{Set-1)

Foot-and-Mouth disease in animals, a current epidemic in some parts<of the
world, is caused by :

{1) Bacterium (2) Fungus

(3) Protozoan ) Virus
ﬁaﬂ%@amﬁmﬁﬁﬁ_@ﬁﬁﬁﬁmmwmﬁmﬁw
T & | SXHT ER -

(1) ¥R @) ™

(3) ST GRS

Who among the follﬂwmg won six Gold Medals in the 9th FINa World
Swimming Clertplenslup held in Fukuoka, Japan in the year Zﬂﬁl 3

1) Grant Hackett 42) lann Thorpe
) Grnet @ ey
(3) Michael Phelps (4) Roman Sloudnov

= 8 ¥ 99 9§ 2001 % G5 m#mﬁmmﬁmﬁﬁmm
M#mmwmm?

(1) W ¥We (2) w9t
3) WgEE BoqE | T (4 R

A Warld Suminit with wniahnn fmm all the cuunmes was held in

_Iolmnneshrs m SEPbEmber 2002 on the sub]e-:t nf T

(1) AIDS cnntrﬂl T MT&H‘WM

(3) Human Rights . . {4) Sustainable Dwe]um |
qﬁmﬁﬁwzmﬁmmﬁmﬁ:w%m&gmw%
frvaedier el 7 f—-\,\\

(1) (EH Pffiase—" () 8w smiee
(3) ARAR A & axha fom
41y T

P.T.0
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111.

112,

3.

114.

115.

Assume that the moon takes exactly 30 days lo complete the cycle and also
assume that it rises in the Fast exactly at 6.48 p.m. on the first day. On the
fourth day, at what time will it rise ?

T AR T 30 B ¥ de-dw W uRR W Ber  aa wg 4 A dfsig
fF et 7 a8 wa § S5-AF 648 pm. T e 2| A R 58S T B
WHE /) g Y

(1) 824 p.m. {2) 9.12 p.m. (3y 10.00 p.m. (4) 1148 p.m.
The sports person Soma Biswas is associated with :

(1) Sailing 2) Hockey (3) Golf (4) Athletics
Raerdl @y fwang ey arafie § 7 '

(1) “reramem (2} et (3) Wew (4) St

In the FIFA World Cup Foutball event in the year 2002, the number of goals
scured by Ronaldo of Brazil was )

WrHr #6E wU BEar-2002 H e B A0EE g ba Tt R T ?
(1) 6 (2) 7 . 38 () 9

Who won the title in the finals of French Dpen- Men's Singies Tennis
Championship in the year 2002 ?

{1} Albert Costa (2) Juan Carlos Ferrero

(3) Andre Agassi . (4) Pete Sampras

af 2002 ¥ arEfi B Ane T Rinet 2R dfydiv @ e F B e
@ Y

(1) veigd BT (2) VT BIEE WK

(3) ¥i% @l (4) e FE

Nanda Devi peak forms of a part of :

(1) Assam Himalayas (2} Kumaon Himalayas

(3) Nepal fimalayas (4 Punjab Himalayas
e A A8 1B T 8
(1) ATH fpnard ST
(2) yarer Fame AT &

(2) B fRarerg wmr oy
. (d) T T

{.42 )
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Who Headed the Interim Cabinet formed in the year 1646 ?

(1) Rajendra Prasad ' (2) Jawaharlal Nehru
(3) Sardar Vallabhbhai Patel (4) Rajagopalachari
5 1946 ¥ o safn BT T e wH @ ?

(1) O T (2) TR W TEw
(3) V&R e R (4) TS
The leader of the Bardoli Satyagraha {1928) was :

(1) Sardar Vallabhbhai Patel (2) Mahatma Gandhi
(3) Vithalbhai ], Patel (4) Mahadev Desai
Tefdl! wera® (1928) F e & o7 ? '

(1) §ER Joodg W (2) HEHET TR

(3) fagerr o w2H (4) g AWE

'A' and 'B’ are two fixed pointsinm a field, A -:Elist ‘C* moves such that ZACB is
always a right angle. In this context, which ene of fefollowing statements is
correct ?

(1) The path followed by the cyclist is an ellipse
(2) The path,followed by the cyclist is a drcig
(3} The path followed by the cyclist is ar‘; expanerintial curve
(4) This type of motien is rl;::’r pﬁé’sﬂﬂe
2222 ;ﬂ?ﬁ mﬁﬂgiﬂi e —— T:af e
(1) e A BRI ST, T (5 ASEEL R |
@) wEfiver e ARLETRT < vE 7 3
(3) Wi T G ST T < R T R
(g}mgﬁﬁwmmﬁﬁﬂmﬁl |
o (43)
P.T.0.
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119.

120.

Which one of the following statement is not correct ?

(1) The National Song ‘Vande Mataram’ was composed by Bankimchandra
Chatterji originally in Bengali,

(2) The National Calendar of india based on Saka era has its st Chaitrg on 320d
March normally and 215 March in a leap year

(3) The design of the National Flag of India was adopted b y the Constituent
Assembly on 220 July, 1947

(#) The song ‘Jana-gana-mana’, composed originally in Bengali by
Rabindranath Tagore was adopted in its Hindi version by the Constituent
Assembly on 24% fanuary, 1950 as the National Anthem of India.

5T 8 0 B0 0 Do e et d

(1) wftm e T Ay A goll BRT HE WY | Sel ¥ va e )

2) ¥ way w SmART g T UK UsuE ARG 5o S5 22 T @) aw
iftred (o da) 9 21 wve 37 vea 8

(3) 9% & U w1 B ReET 22 Ao, 1947 7 WRMA-ET gRT WER
T.’_"-lel :

(4) e SR G qEey § el ¥ Pm M T e @ R o 24
FAE, 1950 B WEME-GN TR WRE @ TS F W s aan

Which one of the following statements is sof correct ?
(1) Milk contains none of the B-vitamins. f
(7% Vitamin-A {retinol) deficiency leads to dry and scaly skin.
(3} - One of the symptoms of scurvy is pain in the joints.
(4) Vitamin Br (thiamine) deficiency can lead to heart failure.
P & W BT FUA ¥ ToT & ?
(1) 5o 4 Ref® B <8 T S # |
@) frefi A mﬁ?ﬁ}ﬂﬁﬁﬁwwﬂqﬁmﬁmim 4
) vl @ 0 7 IS Ch oy
(4) frefe By (o) F T & g 7w &

{44)
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HLER

argfefat & fag fder

& R @ T SRR O O oo AleUHoTRe SR o 3T J8T TR e el derase 57 8 o)

1.

10.

11.

wee g B @ 30 e @ aree @ 3@ o B W F w7 drom § R e
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